[ X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXXKXXKXXKXXKXKXX XX KXKXXKXXKXXKXX XX KXKXXKXKXKXXKXKXKXKXMS /1-6600308-00001XX
TrigonometryExercise8 Answers for No.9594

1= (8443 = 145.492) M

Ansl =[1004/3 = 173.205], , Ans2=[1/58—214/3 =4.650], , Ans3— 1443 RN
.2 =| arctan, =46.514 t

h

@
.1:395} M
2=254 | U

Ans4=151.500, , Ans5=101.225, , Ans6 =278, , Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXKXX KX XXKXX XX KXXXXKXKXXKXXKXKXKXKXXME /1-6600308-00002XX
TrigonometryExercise8 Answers for No.9608

1= (2643 =45.033) M

Ansl =[724]3 = 1247081, , Ans2=[+/ 1064543 =5297], , Ans3— 134/3 R
.2 =| arctan =22.635 {

h

@
.1:166} M
2=1170 | U

Ans4 =141.900, , Ans5=112.452, , Ans6 =297, , Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX KKK KX KKXKX XKL LKL LKL KKK LXK LXK LXK KKK KX KKKKKKKKKMS /1-6600308-00003XX
TrigonometryExercise8 Answers for No.9646

1= (8443 = 145.492) M

Ansl = [4443 =76210], , Ans2=[4/58 =212 =5320], , Ans3= 1443 RN
.2 =| arctan =46.514 {

h

@
.1:212} M
2=136 ’| U

Ans4 =161.550, , Ans5=062.822, , Ans6 =202, |, Ans7:[

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KKXKX XX KXXKXX XX KXXXXKXXKXKXXKXXKXKXXME /1-6600308-00004XX
TrigonometryExercise8 Answers for No.9649

1= (2443 =41.569) M

Ansl =[964/3 —96=70277], , Ans2=[/97—364/3 =5.886], , Ans3— 243 RN
.2 =| arctan =21.052 {

h

@
.1:135} M
2=103) ’| U

Ans4=161.990, , Ans5=133.290, , Ans6=289, , Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KKK XXX XXKXX XX KXXXXKKXKXXXKXKXKXKXXME /1-6600308-00005XX
TrigonometryExercise8 Answers for No.9669

1=(7243 = 124.708) M

Ansl = [844[3 —84=61.492], , Ans2=[3+/5-24/3 =3.718], , Ans3 = 124/3 RN
.2 =| arctan =42.103 {
h

.1=308}
2=176J

Ans4=161.337, , Ans5=114.632, , Ans6 =303, , Ans7=[

NS RE

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKX XXX XXX KKK KKK KX KKXLX KKK LKL KKK LXK LXK LXK KKK X KKKKKKKKKMS /1-6600308-00006XX
TrigonometryExercise8 Answers for No.9717

1=72 M
_ _ _ _ _ _ _ 12 a
Ansl =[150 —504/3 = 633971, , Ans2=[/106—-454/3 =5297], , Ans3 .2:(arctan(—j:32.276°j’ |
h

@

1=2712] |m

Ans4 =152.132, , Ans5=140.297, , Ans6 =224, Ans7—[2=192}, U

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXKX XX XXXX XX KXXXXKXXKXKXXKXXKXKXXME/1-6600308-00007XX
TrigonometryExercise8 Answers for No.9763

1=78 M
o ) _ - _ _ 13 ¢
Ans1=[120-40+/3 =50.718], , Ans2=[4/74-354/2 =4950], , Ans3 .2=(arctan(_J:30'5790j’ N
h

=154 M

Ans4 =161.750, , Ans5=135.379, , Ans6 =194, ,A"S7—[.2:77}’ U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXXXKXXKXXKXXKXX KX KXXXKXKXKXKXX XX KXXKXXKXKXXKXXKXXKXKXXME/1-6600308-00008XX
TrigonometryExercise8 Answers for No.9877

1=(7243 = 124.708) M

Ansl =[684/3 = 117.779], , Ans2=[+/85-4243 =3.501], , Ans3= 124/3 RN
.2 =| arctan =50.720 t
h

@
.1:219} M
2=155 ’| U

Ans4=161.400, , Ans5=69.428, ., Ans6=148, Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXXKX XXX XXX KKK LXK KX XKXLX LKL LKL KKK LXK LXK LXK KKK KKK KKKKKKMS /1-6600308-00009XX
TrigonometryExercise8 Answers for No.9911

1 =(324/3 =55.426) M

Ansl =[844/3 = 145.492], , Ans2=1[+/57 =7.550], , Ans3— 243 RN
.2 =| arctan =21.052 t

h

1=299 M
Ans4=171.959, , Ans5=42.117, , Ans6 =226, Ans7—[2=149}, U
T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXXXKXXKXXKXKX XX XKXKXX XX XXX XKXXKXXXKXKXKXKXXME /1-6600308-00010XX
TrigonometryExercise8 Answers for No.10027

1= (8443 = 145.492) M
a
Ansl =[964/3 —96=70277], , Ans2=1[+/37 =6.083], , Ans3= 144/3 RIS
.2 =| arctan =44.126 t
h

1 =144 M
Ans4 =141.900, , Ans5=104.213, , Ans6 =156, , Ans7—[.2:72}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KKXXX XX XXKXX XX XXXXKXKXXXXKXXKXKXXME /1-6600308-00011XX
TrigonometryExercise8 Answers for No.10063

1=90 M
Ansl =[126—424/3 =53.254], , Ans2=[/58—=214/2 =5.320], , Ans3 .2=(arctan(—j=32.005°j’ |
h

@

1=309] | M

Ans4=171.609, , Ans5=124.764, , Ans6 =133, , Ans7—[2:218}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKX XXX XXX KKK KX KKXKX XKL LKL LKL KKK LXK LXK LXK KKK X KKKKKKKKKMS /1-6600308-00012XX
TrigonometryExercise8 Answers for No.10120

1= (8443 = 145.492) M

Ansl =[1084/3 —=108=79.061], , Ans2=[/85—424/2 =5.060], , Ans3— 7.3 RN
.2 =| arctan 0 =50.485 !

h

@
.1:486} M
2=279" | U

Ans4=162.290, , Ans5=119.563, , Ans6 =159, , Ans7=[

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXKXX XX KXXKXX KX KKXKXX KX XXKXX XX KXXKXXKKXKXXXXKXKXKXKXXME /1-6600308-00013XX
TrigonometryExercise8 Answers for No.10367

1= (3243 =55.426) M
a
Ansl =[114-38+/3 =48.182], , Ans2=[/113=564/3 =4.001], , Ans3 = 1643 .
: ] [ [ ] .2:(arctan( []=23.744°] t
h

@
.1:290} M
2=145 ’| U

Ans4=171.900, , Ans5=65.554, , Ans6=213, Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX XX KXKXXX KX KXXXX KX KXXKXXKXKXXKXXKXXKXKXXME/1-6600308-00014XX
TrigonometryExercise8 Answers for No.10372

1= (2443 =41.569) M

Ansl =[1384/3 =138 =101.023], , Ans2=[+/74—-35+/3 =3.658], , Ans3= 443 RN
.2 =| arctan ; =22.173 !

h

@
.]:128} M
2=641 | U

Ans4=161.800, , Ans5=176.325, , Ans6 =140, , Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKX XXX XXX KKK LXK LXK KX KKXL LKL KKK LXK LXK KKK KKK KX KKKKKKKKKMS /1-6600308-00015XX
TrigonometryExercise8 Answers for No.10375

1=(964/3 =166.277) M
a
Ansl =[404/3 =69.282], , Ans2=[+/61 =7.810], , Ans3 = 843 RN
.2 =| arctan 3 =46.826 t
h

1=331 M
Ans4 =171.759, , Ans5="18.892, , Ans6=18l, ’A”S7‘[2=190}’ U
T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KKXKX KX XXKXX XX KXXKXXKXXKXKXXKXXKXKXXME/1-6600308-00016XX
TrigonometryExercise8 Answers for No.10426

1=90 M
Ans1=[138 46+/3 =58326], , Ans2=[1/31 =5.568], , Ans3 2= arctan(—j=32.005°j’ |t
8 h

i @

1 =140 M

Ans4 =131.704, , Ans5=69.190, , Ans6 =149, |, Ans7—_‘2:99}’ WU

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX XX KKXXX KX XXXX XX KXXKXXKXKXXKXXKXXKXKXXME/1-6600308-00017XX
TrigonometryExercise8 Answers for No.10628

1=96 M

Ansl =[6443 = 110.851], , Ans2=[24/13 =642 =4.250], , Ans3 2:(arctan(£]:32'6190), |
h

1 =270 M
Ans4=131.750, , Ans5=104.620, , Ans6 =305, , Ans7—[2 _ 174}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXXXKX XXX KKK LXK KX KKXLX LKL KKK LXK LXK LXK LXK XXX KX KKKKKKKKKMS /1-6600308-00018XX
TrigonometryExercise8 Answers for No.11408

1=(304/3 =51.962) M
a
Ansl =[72 2443 =30431], , Ans2=1[/13 =3.606], , Ans3= 543 b
.2 =| arctan 5 =21.487 !
h

1=386 M
Ans4=191.484, , Ans5=95.658, , Ans6=182, ’A”S7‘[2=273}’ U
T

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKXKX KX KKK KKK KKKK XX KKK KKK KKK KX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXKXXKXXKXXKXX KX KXKXX KX XXXX XX KXXKXXKXKXXXXKXKXKXKXXME /1-6600308-00019XX
TrigonometryExercise8 Answers for No.11560

— 84 M
= — = = - = - 1 :
Ansl =[1024/3 —102=74.669], , Ans2=[/130—634/2 =6.396], , Ans3= (arctan _] 36_384()), '
19 h

@

1=421 M

Ans4 =131.554, , Ans5=133.548, , Ans6=275, |, A”S7—[2:210}’ | U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX KX KKXXX KX XXKXX XX KXXXXKXXKXXKXXKXKXKXKXXME /1-6600308-00020XX
TrigonometryExercise8 Answers for No.11806

1=T72 M
Ansl =[72—244/3 =30.431], , Ans2 =[] 113=564/3 =4.001], , Ans3 '2:(arctan(_]:32'2760), |
h

@

1=309] | M

Ans4=151.783, , Ans5=85.007, , Ans6=292, Ans7—[2:218}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKX XXX XXX KKK LXK KX XKXLX LKL LKL LXK LXK LXK LXK KKK KX KKKKKKKKKMS /1-6600308-00021XX
TrigonometryExercise8 Answers for No.12219

1=60 M
Ansl =66 22«/3 27.895], , Ans2=[+61 =7810], , Ans3 -Zz(arctan(_j:'za%so)’ |
h

1 =260 M

Ans4 =181.717, , Ans5=81.426, , Ans6=155, ’A”S7‘[2=130}’ U

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXKXXKXXKXX KX KKXKXX XX XXXX XX KXXKXXKXKXXKXXKXKXKXKXXME /1-6600308-00022XX
TrigonometryExercise8 Answers for No.12954

=284 M
_ _90= _ _ _ 14 a
Ansl =[904/3 =90 =65.885], , Ans2=[13 =3.606], , Ans3 .2:(arctan(—j:3l.329°j’ |
1=236] | M
Ans4=151.550, , Ans5=98.138, , Ans6 =305, |, Ans7—[2:118}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KKK XXX XXKXX XX KXXKXXKXKXXXKXKXKXKXXME /1-6600308-00023XX
TrigonometryExercise8 Answers for No.12964

1=(7243 = 124.708) M
a
Ansl =[102—344/3 =43.110], , Ans2=[34/3 =5.196], , Ans3 = 1243 .
: ] [[ ] .2:(arctan( [j:42.103°j t
h

1 =270 M
Ans4=131.434, , Ans5=99.737, , Ans6=133, , Ans7 = [2 _ 207}’ U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKX XXX XXX KKK KX KKXLX XKL LKL LKL KKK LXK LXK KKK KKK X KKKKKKKKKMS /1-6600308-00024XX
TrigonometryExercise8 Answers for No.12971

1 =(284/3 =48.497) M

Ansl =[102—344/3 =43.110], , Ans2=[/65-284/2 =5.040], , Ans3 = 743 b
.2 =| arctan 3 =20.174 !

h

.1:230}
2=148) °

Ans4=191.434, , Ans5=67.692, , Ans6=230, , Ans7 =[

NS XE

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKXKXXXKKKKKXKKKKXKXXKKKX KKK KKK KKK KKKK KX KKKX KKK KKK XX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXXXKXX KX KXXXX KX KXXKXX XX KXXXXKKXKXXKXXKXKXKXKXXME /1-6600308-00025XX
TrigonometryExercise8 Answers for No.13023

=72 M

_ _90= - _ _ _ 12 a
AnsI =[904/3 —90=65.885], , Ans2=[3+/13—64/3 =4.845], , Ans3 2:(arctan(5}32.276oj, |
h

.1 =108 M
Ans4 =152.232, , Ans5=96983, , Ans6=124, , Ans7 —[ 2=170 }’ U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXXXKXX KX KXXX KX XXXX XX KXXXXKXKXXXXKXKXKXKXXME /1-6600308-00026XX
TrigonometryExercise8 Answers for No.13033

1=60 M
_ _ 108 = _ _ _ _ 2 4
Ansl =[1084/3 —108=79.061], , Ans2=[/74—354/2 =4.950], , Ans3 '2:(arctan(_):33'6900} |
h

@

Ans4=161.650, , Ans5=113.646, , Ans6=278, , Ans7=[']2:_16212}, , ]\5

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX KKK LXK KX KKXLX LKL LKL KKK LXK LXK KKK KKK KX KKKKKKKKKMS /1-6600308-00027XX
TrigonometryExercise8 Answers for No.13197

1 =(224/3 =38.105) M

Ansl =[1324/3 —132=96.631], , Ans2=[/25—124/2 =2.834], , Ans3— 114/3 b
.2 =| arctan =17.617 !

h

@
.]:228} M
2=1140 ’| U

Ans4=151.883, , Ans5=72.636, , Ans6=149, Ans7=[

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KKXKX KX XXXX XX KXXKXXKXKXXKXXKXKXKXKXXME/1-6600308-00028XX
TrigonometryExercise8 Answers for No.13907

=78 M
Ansl =[72—244/3 =30.431], , Ans2=[/61 =7.810], , Ans3 '2:(arctan(_ :35.8380j, |
h

. @

1=386] |Mm

Ans4 =141.775, , Ans5=101.371, , Ans6 =153, , Ans7—[2:221_, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KKXKXX XX XKXKXX XX XXX XXX XXXKXKXKXKXXME /1-6600308-00029XX
TrigonometryExercise8 Answers for No.13991

=90 M
Ansl = [138«/?— 138=101.023] Ans2 =[24/13 =7.211] Ans3 = 3 “
T T .2 =| arctan| — |=36.870° |[ | ¢
h
.1=270 M
Ans4=171.659, , Ans5=149.065, , Ans6 =156, , Ans7—[2 _ 135}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX KKK LXK KX KKXLX LKL LKL KKK LXK LXK LXK KKK X KKKKKKKKKMS /1-6600308-00030XX
TrigonometryExercise8 Answers for No.14005

=84 M
Ansl = [844[3 = 1454921, , Ans2=[+/41-204/2 =3.566], , Ans3= 2—(arctan(ﬂj—3l329°j’ |4
. - 23 - . h

1=210] | M

Ans4 =181.550, , Ans5=119.909, , Ans6 =213, , Ans7—[2=105}, U

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXX KX KXXX KX KXXKXX XX KXXXXKKXKXXKXXKXKXKXKXXME/1-6600308-00031XX
TrigonometryExercise8 Answers for No.14157
M
1 =84
a
Ansl =[68+3 =117.779 Ans2 =[4/39 = 6.245 Ans3 = 7
[ b [ ko 2=|arctan| = |=32.471° |[ | ¢
11
h
A =214 M
Ans4=191.584, , Ans5=112.928, , Ans6=191, , Ans7:[ .,
.2=107 U
T
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